
২৩ তম             -      ম        

১। 

ম                         ।     - 

(ক) 

                                ক   

(খ) 

              ক         

(গ) 

                            

(ঘ) 

                             ক   

     ক।                                 ক   

২। 

      ম          গ ম         গ    ? 

(ক) 

  ঘ               ক 

(খ) 

         ক                                  

(গ) 

                            

(ঘ) 

  ঘ                ক   ক        ক                        

     ঘ।   ঘ                ক   ক        ক                        

৩। 

     ত        ৎ    ত             ম                  ? 

(ক) 

  গ  
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(খ) 

   

(গ) 

     

(ঘ) 

    

     গ।      

৪। 

 খ                 ম                   তখ    - 

(ক) 

      ণ 

(খ) 

    ণ 

(গ) 

        

(ঘ) 

   ণ     

     ক।       ণ 

৫। 

              ত         ? 

(ক) 

        

(খ) 

            

(গ) 

    -    গ      

(ঘ) 
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     ক।         

৬। 

                                     ,     - 

(ক) 

                            

(খ) 

                          

(গ) 

                     ক  

(ঘ) 

খ ও গ        ক 

     ঘ। খ ও গ        ক 

৭। 

                 - 

(ক) 

৮০%          ক    + ৫%      

(খ) 

৯৫%          ক    + ৫%      

(গ) 

৯০%          ক    + ১০%      

(ঘ) 

৯৮%          ক    + ২%      

     খ। ৯৫%          ক    + ৫%      

৮। 

ত ম                      ম       ত    ? 

(ক) 

    

(খ) 
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(গ) 

    

(ঘ) 

   ক  

     গ।     

৯। 

   ম    খ                                    খ                      খ   

        , ত          - 

(ক) 

          

(খ) 

         

(গ) 

        

(ঘ) 

         

     ক।           

১০। 

Find out the correct translation:                             । 

(ক) 

It is raining from morning. 

(খ) 

It has been raining from morning. 

(গ) 

It has been drizzling since morning. 

(ঘ) 

It is drizzling since morning. 

     গ। It has been drizzling since morning. 
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১১। 

 ম          ছ         - 

(ক) 

        ,       ণ ,      

(খ) 

গ  ,      ,  ণ    

(গ) 

   ঘ  ক ,    ,  ণ    

(ঘ) 

        ,       ,      

     ঘ।         ,       ,      

১২। 

  মগ     ছ   -           - 

(ক) 

ক    ক    

(খ) 

 গ       খ     ক 

(গ) 

    গ 

(ঘ) 

     ণ      খ 

     খ।  গ       খ     ক 

১৩। 

               -   গ           - 

(ক) 

         

(খ) 
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(গ) 

            

(ঘ) 

                 

     গ।             

১৪। 

 -           - 

(ক) 

    

(খ) 

ক     

(গ) 

ক   ণ 

(ঘ) 

ক   

     ক।     

১৫। 

                               - 

(ক) 

          

(খ) 

ক   ণ      

(গ) 

         

(ঘ) 

            

     খ। ক   ণ      

১৬। 
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                        - 

(ক) 

      ,    গ  ক,     

(খ) 

        ,      ,        ক 

(গ) 

 ক    ,  ক     ,      ক   

(ঘ) 

     ,         ,        

     খ।         ,      ,        ক 

১৭। 

  ত    -      - 

(ক) 

    +    

(খ) 

    +     

(গ) 

     +     

(ঘ) 

     +    

     ঘ।      +    

১৮। 

                          ,     ত, ত  ত   ত         তগত            , ত    

      - 

(ক) 

    -     ণ 

(খ) 

       ক         

(গ) 
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                   ণ 

(ঘ) 

       ক   

     ক।     -     ণ 

১৯। 

             ত     ম                  ত      ? 

(ক) 

২৬     , ১৯৭১ 

(খ) 

  ক , ২১        , ১৯৫২ 

(গ) 

         খ,             

(ঘ) 

       ১৬, ১৯৭১ 

     খ।   ক , ২১        , ১৯৫২ 

২০। 

  ম                  ম                           ছ - 

(ক) 

                     

(খ) 

 গ          

(গ) 

    ক    খ        

(ঘ) 

               

     গ।     ক    খ        

২১। 

    ম                   ,       ত     ত  গ                      ত   , ত        

  - 
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(ক) 

        

(খ) 

              

(গ) 

ক            

(ঘ) 

          

     ঘ।           

২২। 

                        ম      ত? 

(ক) 

ও     

(খ) 

     

(গ) 

      

(ঘ) 

       

     খ।      

২৩। 

      ম    -      ? 

(ক) 

      

(খ) 

     

(গ) 
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(ঘ) 

       

     ক।       

২৪। 

                           ম      ত 

(ক) 

           

(খ) 

ক    ক 

(গ) 

     

(ঘ) 

 ক         

     ঘ।  ক         

২৫। 

     ম                      ছ   ? 

(ক) 

          

(খ) 

ক  গ  

(গ) 

ঘ    

(ঘ) 

          

     গ। ঘ    

২৬। 

                      ? 

(ক) 
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(খ) 

      

(গ) 

  ক    

(ঘ) 

        

     খ।       

২৭। 

Food and Agricultural Organisation-                     ত? 

(ক) 

       

(খ) 

    কক 

(গ) 

       

(ঘ) 

     

     ঘ।      

২৮। 

IFC    ত         ? 

(ক) 

                ক         

(খ) 

                   ক        

(গ) 

                   ক         

(ঘ) 
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        ক         

     গ।                    ক         

২৯। 

Organisation of African Unity  ত        ত  ত   ? 

(ক) 

১৯৬৩      

(খ) 

১৯৬২      

(গ) 

১৯৬০      

(ঘ) 

১৯৬৪      

     ক। ১৯৬৩      

৩০। 

    ম                                 ত? 

(ক) 

     

(খ) 

ক     

(গ) 

ক      

(ঘ) 

      

     ক।      

৩১। 

   ত                               ত                   ত     ত     

     ত     ? 

(ক) 
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(খ) 

        

(গ) 

       

(ঘ) 

      

     খ।         

৩২। 

     (PLO)  খ  গ  ত   ? 

(ক) 

১৯৬৬      

(খ) 

১৯৬৫      

(গ) 

১৯৬৪      

(ঘ) 

১৯৬৭      

     গ। ১৯৬৪      

৩৩। 

Which phrase contains words opposed to each other in meaning? 

(ক) 

Reproduction and death 

(খ) 

Heat and dust 

(গ) 

Hopes and aspirations 

(ঘ) 

Emerged and advanced 

     ক। Reproduction and death 
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৩৪। 

I spent ____ with the patient 

(ক) 

Sometimes 

(খ) 

sometime 

(গ) 

some times 

(ঘ) 

some time 

     ঘ। some time 

৩৫। 

count ____ your help 

(ক) 

with 

(খ) 

After 

(গ) 

upon 

(ঘ) 

for 

     গ। upon 

৩৬। 

Trees have ____ off their leaves 

(ক) 

fallen 

(খ) 

cast 

(গ) 

Thrown 
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(ঘ) 

put 

     গ। Thrown 

৩৭। 

The captain left the boat, because it ____. 

(ক) 

turned over 

(খ) 

tuned bottom 

(গ) 

turned up 

(ঘ) 

turned down 

     ক। turned over 

৩৮। 

One should be careful about ___ duty. 

(ক) 

her 

(খ) 

one’s 

(গ) 

His 

(ঘ) 

the 

     খ। one’s 

৩৯। 

We waited until the plane ____. 

(ক) 

had taken off 

(খ) 
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had not taken off 

(গ) 

took off 

(ঘ) 

did not take off 

     গ। took off 

৪০। 

She argued ____ me about the marriage. 

(ক) 

with 

(খ) 

From 

(গ) 

for 

(ঘ) 

to 

     ক। with 

৪১। 

Choose the correct option: Even as harvesting was goin on ____. 

(ক) 

the rainy season begins 

(খ) 

the rainy season had began 

(গ) 

the rainy season was began 

(ঘ) 

the rainy season began 

     ঘ। the rainy season began 

৪২। 

Identify the correct sentence: 
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(ক) 

She had faith and hopes in future. 

(খ) 

She had faith and hopes in the future. 

(গ) 

She had faith and hopes for the future. 

(ঘ) 

She had faith in and hopes for the future. 

     ঘ। She had faith in and hopes for the future. 

৪৩। 

Choose the correct sentence: 

(ক) 

Rahim ate the whole fish almost 

(খ) 

Almost Rahim ate the whole fish 

(গ) 

Rahim ate almost the whole fish 

(ঘ) 

Rahim almost ate the whole fish 

     গ। Rahim ate almost the whole fish 

৪৪। 

  ম                         ? 

(ক) 

   ক     ও       

(খ) 

      ও       

(গ) 

      ও       

(ঘ) 
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      ও       

     গ।       ও       

৪৫। 

                               ? 

(ক) 

             

(খ) 

         

(গ) 

খ         

(ঘ) 

           

     খ।          

৪৬। 

Complete the sentence:- Trees have ____ off their leaves. 

(ক) 

fallen 

(খ) 

cast 

(গ) 

thrown 

(ঘ) 

put 

     খ। cast 

৪৭। 

Identify the correct passive form- 'Open the window' 

(ক) 

Let the window be opened 

(খ) 
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The window should be opened 

(গ) 

Let the window be opened by you 

(ঘ) 

The window must be opened 

     ক। Let the window be opened 

৪৮। 

I count ____ your help: 

(ক) 

with 

(খ) 

for 

(গ) 

on 

(ঘ) 

after 

     গ। on 

৪৯। 

Choose the correct sentence- 

(ক) 

Rahim ate the whole fish almost 

(খ) 

Almost Rahim ate the whole fish 

(গ) 

Rahim almost ate the whole fish 

(ঘ) 

Rahim ate almost the whole fish 

     ঘ। Rahim ate almost the whole fish 

৫০। 

                       (B.C.S)         ত  ? 

https://3hourbattle.com/sq/1328
https://3hourbattle.com/sq/1329
https://3hourbattle.com/sq/1330


(ক) 

২২    

(খ) 

২৮    

(গ) 

২১    

(ঘ) 

৫    

     খ। ২৮    

৫১। 

      ত    খ                         ত  খ  - 

(ক) 

 ক     

(খ) 

        

(গ) 

ক     

(ঘ) 

খ   ক     

     ক।  ক     

৫২। 

ত        গ           ত               ? 

(ক) 

           

(খ) 

ক           

(গ) 
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(ঘ) 

              

     ঘ।               

৫৩। 

      ত                             ।     - 

(ক) 

   ক     ঘ                গ      ক 

(খ) 

    ঘ          ক 

(গ) 

    ঘ              ক     

(ঘ) 

    ঘ                      

     গ।     ঘ              ক     

৫৪। 

     ত    ম    ২৫%          ত    ত            ত     ত  ম   ,  ত       খ   

            ? 

(ক) 

২০% 

(খ) 

১৬% 

(গ) 

১১% 

(ঘ) 

৯% 

     ক। ২০% 

৫৫। 

Choose the right preposition for the sentence : She argued…….me about the marriage. 

(ক) 
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with 

(খ) 

for 

(গ) 

to 

(ঘ) 

from 

     ক। with 

৫৬। 

                       ম   ? 

(ক) 

            ক       

(খ) 

         গ         

(গ) 

            ক       

(ঘ) 

             গ           

     ঘ।              গ           

৫৭। 

      -                 গত   ? 

(ক) 

     

(খ) 

     গ  

(গ) 

     

(ঘ) 

  ক 
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     খ।      গ  

৫৮। 

   মত -          - 

(ক) 

      ক 

(খ) 

      খ 

(গ) 

    

(ঘ) 

    

     গ।     

৫৯। 

৭২                      ম   A    ১৭   গ,B    ৩   গ     C    ৪   গ      

গ  ত। ম    B  ত       ছ? 

(ক) 

৯  ক   

(খ) 

১২  ক   

(গ) 

১৭  ক   

(ঘ) 

৫১  ক   

     ক। ৯  ক   

৬০। 

          ৭০%                   ৮০%                       ছ।     ১০%     

              ছ।               ৩০০                        ত   ঐ      

 ত                     ছ? 

(ক) 

৭৬০    

https://3hourbattle.com/sq/1338
https://3hourbattle.com/sq/1339
https://3hourbattle.com/sq/1339
https://3hourbattle.com/sq/1340
https://3hourbattle.com/sq/1340
https://3hourbattle.com/sq/1340


(খ) 

৫৬০    

(গ) 

৫০০    

(ঘ) 

৪০০    

     গ। ৫০০    

৬১। 

২০                           ত                       -        

 ত                     ? 

(ক) 

৭৬০ 

(খ) 

২০ 

(গ) 

৩৮০ 

(ঘ) 

১৯০ 

     ঘ। ১৯০ 

৬২। 

Three-fourths of the work ____ finished. 

(ক) 

have been 

(খ) 

has been 

(গ) 

had 

(ঘ) 

were 
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     গ। had 

৬৩। 

Identify the correct passive form- Open the window. 

(ক) 

Window should be opened 

(খ) 

Let the window be opened 

(গ) 

Let the window be opened 

(ঘ) 

Let the window be opened by you 

     গ। Let the window be opened 

৬৪। 

Choose the correct tense: 

(ক) 

Javed was so exhausted that he was lying down for a sleep 

(খ) 

Javed was so exhausted that he had lain down for a sleep 

(গ) 

Javed was so exhausted that he will lay down for a sleep 

(ঘ) 

Javed was so exhausted that he lain down for a sleep 

     ক। Javed was so exhausted that he was lying down for a sleep 

৬৫। 

If I had known you were coming ____. 

(ক) 

I had gone to the station. 

(খ) 

I would have gone to the station. 

(গ) 
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I would be going to the station. 

(ঘ) 

I would go to the station. 

     খ। I would have gone to the station. 

৬৬। 

                              ম        ত         খ ত     ? 

(ক) 

    ও             

(খ) 

          ক 

(গ) 

   

(ঘ) 

          

     খ।           ক 

৬৭। 

             ত        ত    ম   ? 

(ক) 

  ঘ      ক       

(খ) 

            ও      

(গ) 

                          

(ঘ) 

    ক           

     ঘ।     ক           

৬৮। 

             ত     ম                    ত     ? 

(ক) 
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  ক , ২১        , ১৯৫২ 

(খ) 

২৬     , ১৯৭১ 

(গ) 

       ১৬, ১৯৭১ 

(ঘ) 

         খ,             

     ক।   ক , ২১        , ১৯৫২ 

৬৯। 

      ম                 ম ১৬  ম                      ত   ১০  ম               

       ত? 

(ক) 

৪২        

(খ) 

৪৮        

(গ) 

৩৬        

(ঘ) 

৫০        

     গ। ৩৬        

৭০। 

ম                                    গ       ? 

(ক) 

   

(খ) 

   

(গ) 

 গ   

(ঘ) 
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     গ।  গ   

৭১। 

১৯৭৫       ১৫  গ         ত                                     ছ   ? 

(ক) 

                          

(খ) 

                          

(গ) 

                   

(ঘ) 

              ক            

     ঘ।               ক            

৭২। 

    ত ত                       ? 

(ক) 

     

(খ) 

     

(গ) 

     

(ঘ) 

       

     খ।      

৭৩। 

The Asian Drama-          ত    ? 

(ক) 
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(খ) 

          

(গ) 

    ক        

(ঘ) 

             

     ক।             

৭৪। 

                   ? 

(ক) 

       ক   ক         

(খ) 

  ঘ       ক   ক         

(গ) 

     

(ঘ) 

    -        

     ঘ।     -        

৭৫। 

      খত                               ? 

(ক) 

          

(খ) 

  গ 

(গ) 

       

(ঘ) 
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     গ।        

৭৬। 

 খ              খ    - 

(ক) 

            

(খ) 

              

(গ) 

           

(ঘ) 

ক               

     খ।               

৭৭। 

       ত  ৎ  ত- গ          ত - 

(ক) 

 ওক  ও     

(খ) 

       ক        

(গ) 

              ক 

(ঘ) 

 খ                

     ঘ।  খ                

৭৮। 

         গ                           ? 

(ক) 

       

(খ) 
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(গ) 

        

(ঘ) 

        

     গ।         

৭৯। 

     ম        ত          ২      ৫ ম            ৪          ম              

   । ত    ম    ম     ত      গ   গ  ত? 

(ক) 

১ ২/৩ 

(খ) 

৫/৬ 

(গ) 

১ ৫/৭ 

(ঘ) 

৩ ৩/৪ 

     ক। ১ ২/৩ 

৮০। 

       -         -    ম  -                 ? 

(ক) 

ক  ক        -    খ      -        

(খ) 

      -     -        

(গ) 

ক  ক        -   গ    গ-          

(ঘ) 

   গ         

     ক। ক  ক        -    খ      -        
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৮১। 

        ত                  ম  খ      ছ ? 

(ক) 

১৯৭৩      

(খ) 

১৯৬৭      

(গ) 

১৯৬০      

(ঘ) 

১৯৪৮      

     গ। ১৯৬০      

৮২। 

No-fly-zone               ত? 

(ক) 

  গ       

(খ) 

ক     

(গ) 

   ক 

(ঘ) 

       

     গ।    ক 

৮৩। 

ম                            ? 

(ক) 

      

(খ) 
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(গ) 

    

(ঘ) 

      

     ক।       

৮৪। 

ম    ম        -                   ম               ? 

(ক) 

   ক    ও   গ       

(খ) 

     ও    ক    

(গ) 

    ও        

(ঘ) 

    ও      

     ঘ।     ও      

৮৫। 

A person whose 'head' is in the 'clouds' is ____ 

(ক) 

an aviator 

(খ) 

proud 

(গ) 

a day dreamer 

(ঘ) 

useless 

     গ। a day dreamer 

৮৬। 

The appropriate meaning of the idiom 'Swan song' ____ 
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(ক) 

first work 

(খ) 

last work 

(গ) 

middle work 

(ঘ) 

early work 

     গ। middle work 

৮৭। 

              গ  ত                          ম         ? 

(ক) 

          

(খ) 

        

(গ) 

     ক      

(ঘ) 

            

     খ।         

৮৮। 

 ম                        ত-                ছ- 

(ক) 

          

(খ) 

      ও  গ  

(গ) 

           

(ঘ) 
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  ক     

     গ।            

৮৯। 

ম                         - 

(ক) 

  গ               

(খ) 

        

(গ) 

ক    ও    

(ঘ) 

    ক    ও    

     ক।   গ               

৯০। 

৩   খ     ২     ত     ত    ? 

(ক) 

১২০% 

(খ) 

১২৫% 

(গ) 

১৪০% 

(ঘ) 

১৫০% 

     ঘ। ১৫০% 

৯১। 

      ম     গম     ম        খ       ৫   ১৭   , ত   ত ত     খ      ত? 

(ক) 

৮৫ 
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(খ) 

২২ 

(গ) 

২৫ 

(ঘ) 

২৯ 

     ঘ। ২৯ 

৯২। 

১, ২, ৩, ৫, ৮, ১৩, ২১, ৩৪, ___            ত    খ    ত? 

(ক) 

৬৮ 

(খ) 

৪০ 

(গ) 

৫৫ 

(ঘ) 

৮৯ 

     গ। ৫৫ 

৯৩। 

M   খ     খ    গ  A     N   খ     খ    গ  B ,         খ    গ   ত? 

(ক) 

(A+B)/2 

(খ) 

AM+BN)/2 

(গ) 

(AM+BN)/M+N 

(ঘ) 

AM+BN)/A+B 

     গ। (AM+BN)/M+N 
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৯৪। 

           ত         ত               ? 

(ক) 

                   

(খ) 

   ক            

(গ) 

       ক            

(ঘ) 

ক                

     গ।        ক            

৯৫। 

         গ ত               - 

(ক) 

     ও    

(খ) 

           

(গ) 

         

(ঘ) 

     ও     

     খ।            

৯৬। 

                    ত   - 

(ক) 

গ গ     গ   ণ     

(খ) 

         গ     
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(গ) 

 ক          গ     

(ঘ) 

         ণ         

     ক। গ গ     গ   ণ     

৯৭। 

             ম      ত         - 

(ক) 

         ক                   ক 

(খ) 

   ক                        গ 

(গ) 

                        গ 

(ঘ) 

                   গ    ক 

     গ।                         গ 

৯৮। 

                           ত      ত  ম      ম   ত  ম              ? 

(ক) 

০⁰ 

(খ) 

১০০⁰ 

(গ) 

৪⁰ 

(ঘ) 

-৪০⁰ 

     ঘ। -৪০⁰ 

৯৯। 
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           খ -                    ছ - 

(ক) 

           গ   

(খ) 

   ও  

(গ) 

  গ    ক   

(ঘ) 

                  খ   

     ক।            গ   
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